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6.34=6+0.3+0.04

1.59 = |+| |+| |
@ 0.1,0.5,0.09 (@)1,0.5, 0.09 ® 0.1,0.05,0.09
@ 5,0.1,0.09 ® 9,0.5,0.01

1.59 =1+ 0.5+ 0.09




@ (1) 0.2201  (2) 1.5338 @(1) 2.201
@ (1) 22.01 (2) 15.338 @ (1) 220.1

® (1)220.1 (2) 1533.8

(2) 15.338

(2) 153.38
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201

2—— =2+40.201 = 2.201
1000 *

15ﬁ =15+ 0.338 = 15.338
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® 0.1,01,0.1 @ 0.1,0.01,0.01
@0.1 ,0.01,0.001 @ 0.001, 0.01, 0.001

® 0.001, 0.001 , 0.001
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® 4.21, 4.19 @ 4.21, 4.195 ® 4.21, 4.198
@ 4.201, 4.19 @4.201, 4.198

491 2717} 0.001 4 Eol54tt.
AAR [ ]=4.2+0.001 = 4.201

e[ | =4.199-0.001 = 4.198




6. =< EEA AR Ae 1EAL,

(1) 026+ 0.35  (2) 0.72 + 0.62

@ (1) 0.51 (2) 1.34 @ (1) 0.51 (2) 1.35
@) 061 (2) 1.34 @ (1) 0.61 (2) 1.3
® (1) 0.61 (2) 1.37

(1) 0.26 + 0.35 = 0.61
(2) 0.72 +0.62 = 1.34




05 25E 252 A2 vt2A vetd e A=A e,

56 7
(1) 100 (2) 100
D (1)0.56 (2)0.47 @ (1)5.056 (2)4.007
® (1556 (2)4.7 @ ()5.56 (2)1.07
® (1)5.056 (2)4.07
(1) 5% =5+ % =5+ 0.56 = 5.56
(2) 4 — 44— — 44007 =407

100 100




(2) 56g = ]kg
@ (1) 1.02 (2) 0.56 @ (1) 1.02 (2) 0.056
@ (1) 0.102 (2) 5.6 @ (1) 0.102 (2) 0.56

O

®)(1) 0.102 (2) 0.056

B

(1) 1m = 0.001 km
102m = 0.102km
(2) 1g = 0.001 kg
56g = 0.056 kg




@ 4.632, 4.643 @ 4.632, 4.644 @ 4.632, 4.645

@4.632, 4.646 ® 4.632, 4.647

B

4.639} 4.64A10]5 10 Zto2 HRgona 2o L2 3 719
371 0.001 44t

whebA] AHA [ | 4.63004 22 = 27HS A 9K 9
QOB R 463+ 0.002 = 4.632 4T}

ERA[ Je4640]4 B2 EFL 67 A Ao glen
2 4.64 4 0.006 = 4.646 Yt}




10. AL st SAE T @AM 67.24m S AAL et
58.84m S AAGUT 7t duhut o @e] R TehA L.

@%Zﬁ, 8.4m @ e}, 8.4m ® <A, 8.6m
@ 2t 8.6m ©® A, 7.4m

67.24 — 58.84 = 8.4 o|B& 2|7} 84m © Ha] AHT]
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12. A &4=0] WAlS 5HA Q.

11.777 - 8.305 — 1.999

[ 2
> ®eh: 1473

11.777 — 8.305 — 1.999 = 3.472 — 1.999 = 1.473
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Holl A FH7HA] = 0.694 km ©]
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km

© 2.12km

i=RC]
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7HA) = 1.426 km
12] kA Q.

(Hell A staztz] o] A=)

—(RNA BRG] A+ (BRI start o] Ad)

= 0.694 + 1.426 = 2.12(km)




14. [ ]oto dge 22 AR HYL AL 12 L.

877-237-198=] |-198=] |

@D 6.04, 4.02 @ 6.04, 4.42 ® 6.4, 4.02
@6.4, 4.42 ® 6.4, 4.52

8.77-237-198=6.4—-1.98 =442
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16. oj" Zof 285 & Y 5.02 7} F A5 Th oJH2} 1.847 9
AHE F5HA L.

> E.

> =l 0.323

(o1® 42)4-2.85 = 5.02,
(O1® 4)=5.02 - 2.85 = 2.17
2.17 —1.847 = 0.323
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19. og = 4o [ |to] 5 o= 507 & & A5 &2
TOIAl 2
1.82 > 1] o4
8.054 < 8.0 |2
> E:
> =g 13
1.82 > 1[ |pdollA [ Jetoll dere At gEk 2k 441
0, 1,2 3, 4,5, 6, 744k,
8.054 < 8.0 PollA [ Joto]l qgre gate sHTE 2 59l
6, 7, 8, 9 YUk,
oheta], [ [ote]l 3522 S0l 4 Y £AE 6, 7 YUTh
59 &2 13 4yt




g i QA4 9ol 9 7k U ok, 2 whe] Aelg very
B el 4 v o] Al dnpr] TEAL. (L THolA
A o] AUt

7t
3.73 | Y
F ot
3.409| 2+
13.524 7.504 o}
(¢ @ km)
= km

[ 2
> & 4.095km

B

(2ol A sh7tA12] A )

— (el A E7ARI 2] A2 (lA 2iA o] A)
= 7.504 — 3.409

= 4.095( km)




